
 $l;ly; tpUj;jp  

$l;ly;tpUj;jp vd;why;> 

 mLj;J tUk; ,U cWg;Gf;fSf;F ,ilapyhd tpj;jpahrk; xU khwpypahf mikAk; 
vz;njhlup MFk;. 

$l;ly;tpUj;jpapy; 

       

 

 

 

2> 4> 6> 8 …………… vd;w vz;Nfhyj;jpy;> 

Kjy; cWg;G   - 2 

nghJ cWg;G ( mLj;J tUk; ,uz;L cWg;Gf;fspd; tpj;jpahrk; ) 

 

 

 

gapw;rp I 

1. 2> 5> 8. 11 ……. vDk; vz;njhlupapy;> 

 Kjy; cWg;G vd;d? 

 nghJ tpj;jpahrk; vd;d? 
2. * 5> 7> 9> 11 …… vDk; vz;Nfhyj;jpy; mLj;JtUk; ,uz;L cWg;Gf;fis vOJf. 

+2  +2  +2  +2  +2 

 5  7  9  11  …..  …… 

*  1 ,4, 7, 10…. vz;Nfhyj;jpy; mLj;JtUk; ,uz;L cWg;Gf;fis vOJf. 

d = 4-1          d = 7-4      d = 10-7  

d = 3              d = 3          d = 3 

khfhzf; fy;tpj; jpizf;fsk; rgufKt 

thuhe;jghlrhiy 

 fzpjk; 

juk; 10 gh Nahfuh[; - rhe;j kupahs; j.k.tp 

mf;Nlhgu; 26 - 30  

a -      Kjy; cWg;G  

d -      nghJ tpj;jpahrk; 

n -      vz;zpf;if 

Tn -      cWg;Gf;fspd; vz;zpf;if 

 

d = 4 – 2 

d = 2 

 

d = 6 – 4 

d = 2 

 

d = 8 – 6 

d = 2 

 



KjYWg;G a ck; nghJ tpj;jpahrk; d ck; MfTs;s $l;ly; tpUj;jpnahd;wpd; 
cWg;Gf;fspd; vz;zpf;if n vdpd; n Mk; cWg;G 

Tn = a + (n – 1)d   MFk;  
 

gapw;rp 
a, d vd;gtw;iw fhz;f. 
 

 a d 

3, 6, 9, 12 3 3 

5, 10, 15, 20   

2, 5, 8, 11   

1, 5, 9, 13    

Tn = a + (n – 1) d vDk; #j;jpuj;ij gad;gLj;jp> 

1. 2, 5, 8, 11 ……. vDk; tpUj;jpapy; 10k; cWg;igf; fhz;f.. 

     a = 2 

     d = 5 – 2        d = 8 – 5  

     d = 3               d = 3  

 

 

 

 

2.   3, 7,11, 15….  vDk; tpUj;jpapy; 8k; cWg;igf; fhz;f. 
   a = 3 

       d = 7-3       d = 15 – 11 
       d = 4           d = 4  
3. -2 , -4, -6, -8 ……  vDk; tpUj;jpapy; 21k; cWg;igf; fhz;f. 

4. 7, 10, 13, 16……. vDk; tpUj;jpapy; 12k; cWg;igf; fhz;f. 

5. 42, 44, 46, 48 …..  vDk; tpUj;jpapy; 10k; cWg;igf; fhz;f. 
 

1> 3> 5> 7> …… vDk; vz;njhlupapy; 27 vj;jidahk; cWg;G MFk;? 

a = 1, d = 2, Tn = 27, n = ?  

Tn = a + (n – 1) d 

27 = 1 + (n – 1) 2 

27 1 + 2n -2 

27 = 2n – 1 

27 + 1 = 2n 

28 = 2n 

14 = n 
 

 

Tn = a+ (n – 1) d 

T10 = ……. + (10 – 1) ……. 

T10 = 2 + ( 9 X 3) 

T10 = …………… 

T10 =………… 

 

fPNo jug;gl;Ls;s vz;njhlupfspy; ,Wjpapy; 
jug;gl;ls;sit vj;jidahk; cWg;G vdf; fhz;f. 

1. 5, 10, 15, 20, ……….. 50 

2. 13, 15, 17, 19,………. 41 

3. 10, 20, 30, 40, ………. 510 

4. 18, 20, 22, 24, ………. 60 

5. 30, 28, 26, 24, ………. 0 

6. 30, 25, 20, 15, ………. -15 

7. 0.3, 0.6, 0.9, 1.2, …… 3 

8. -3, -6, -9, -12, ……… 
 



KjYWg;G a ck; nghJ tpj;jpahrk; d ck; MfTs;s $l;ly; tpUj;jpnahd;wpd; 
cWg;Gf;fspd; vz;zpf;if n vdpd; n cWg;Gf;fspd; $l;Lj;njhif 
                                       MFk; 

 
 

5, 10, 15, 20, ….. vDk; vz;njhlupapd; Kjy; 10 vz;fspd; $l;Lj;njhifiaf; fhz;f. 

 
 
gpd;tUk; vz;njhlupfspy; Fwpg;gplg;gl;Ls;s vz;fspd; $l;Lj;njhifiaf; fhz;f. 

1. 10> 20> 30> 40> ….  Kjy; 20 vz;fspd; $l;Lj;njhif 
2. 9> 11> 13> 15> …..  Kjy; 10 vz;fspd; $l;lj;njhif 
3. 10> 13> 16> 19> ….  Kjy; 15 vz;fspd; $l;lj;njhif 
4. 16> 20> 24> 28> ….  Kjy; 12 vz;fspd; $l;lj;njhif 
5. 50> 45> 40> 35> ….. Kjy; 10 vz;fspd; $l;lj;njhif 
6. 12> 8> 4> 0> ……   Kjy; 12 vz;fspd; $l;lj;njhif 
7. -2> -4> -6> -8> …..   Kjy; 13 vz;fspd; $l;lj;njhif 
8. ⅓, ⅔, 1, 1⅓, …….      Kjy; 10 vz;fspd; $l;lj;njhif 

 
 


